size:21 X 29.7 cm

size:21 X 29.7cm

size:21X29.7cm size:21X29.7cm
sanden Part List Step 1 Step 3
studio A rcs | B »cs | G ¢ | H 1PC
Venice Companion Tete a Tete Set
Model Number: 058886 —7 | —=
o /4
Assembly Instructions At
S| = N+L -
WARNING C e | D e | E 1PC 1PC y/ VY
This item is for domestic use only.
Two people are required to assemble this item. Assemble this item on a flat, solid and
even surface.
Make sure that all the necessary pieces are in the carton before starting the assembly. \
Maximum Loading Capacity is 130kg for each seat and 5kg for each shelf. ‘
x_ I+L
I+L
CLEAN AND CARE
Periodically ensure all the screws and fixings are secure and the item is stable.
Damp wipe only and dry naturally. Step 2 Step 4
| apcs | J 2rcs | K 16PCS 24PCS
Important: Retain this instruction for future reference. M6X45 M6X50 M6X30 - -
Read carefully. @
@ @
o () lany
J+L -
M 1PC N 2PCS
M6X50
{)
U,
@




